x107°

= 0.2_ i AN
g ; D
0.15H e -HE e Ha - B0.15F -]
s F : S
L : : . Ze]
Ir\O/ 0_1:_ 1 R L1 - B D v OaF----tb- b
0.05F AUHETEE A L1 0.08Fww-wiethee- i~ [HHelh {15 e
0:—., PRSP Y80 D | S 0 R Y | SR AN PO 1111 (| R T A
E ] it
—0.05H HHEHItE —0.05------x-}}----1 A free
-0.1H ----------------------
-0.15} T TR TR B R K RS
SN o N P 11 AR R R Y oF AR T | TR S
8 2 ] 1 i sEdL AL .
€ F Il LT I et
1 ki T ) | ! il f
r : i ! I i OSETTf i i i p
ot ; s ; : ot : : ; :
=3 -2 -1 0 1 2 3 = -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_TT _original_time2
—e— DQM_TT_modified_time2
—— DQM_TT_modifiedINIT_time2
g 10()E : : : : glooz E
= 80 FEH LN . & EEERE I i = 8Or{11-r TR i
A [ ! : ! F A I 1
2 60F BT F 1 Etlil < 60F e
2 H : : : : ) H : :
v 40f FE TR v 401 th
20ft | R 20ft ;
o1t i ++«*+ i of . Sl
b k A d E el :
- H At b b - {HEH ’ - H Y -
20E m ] : ; 20E ; ¥ :
~40f; T T —4OFfiH -tk L
~60f} - R S 5
~8oft et B s
o—lOQE'"F""I""i""i"'I"' O_lOOE||||.||||i|||||||||i||||i||||
= ENll A EN R BT l E=T o | I g
c 5 | i i c | ] i
E41--- 4 -t - E r | : :
LI T Al Ty sTIE
HOTRIT b E i J | il
832 -1 0 12 3 932 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

....................

<op/p.> (%)
O = N W N O

=
3

.....................

I

=2 1 0 1 2 3
TP n (PCA to beamline)

%+
=
-
v




	Contents
	Page 1


